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Grundlage

- basis

- base -bases

Kontern von zwei Muttern

Locking of two nuts
Blocage d'écrous moyennant
2 contre ecrous

Fijacion por contratuerca

g Bewegliche Verbindung

5 Moving joints
Assemblages mobiles
Conexiones maviles

a-Uberlappung
Overlapping

Jointure a recouvrement
a-solapa
b-StoRverbindung

Butt joint

Assemblage bout & bout

platabanda

Radbefestigung
Fastening of wheels

Fixations de roues
Sujecion derueda
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Ideale Erganzung mit Set C130

ideal supplementation with set C130
Complemento idéneo con C130 _ IS x1402 3
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2x1514 //

2x1511

Set C130-nicht enthalten
Set C130 not included
Set C130 no incluido
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